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ANALOGUEPULL TEST
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WHAT, HOW AND WHY S

With the TP100tensiletest kit, a vertical and horizontal tensile test can be performed
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quickly and accurately at a specificlocation ina simplebut effective manner.
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With a maximum vertical tensile load of 100kNand a horizontal tensile load of 60kN, E} b
the larger FIRSTBASEpile diameters such as the V76,V89,V114and V140can be rated 1:-1.-','
for load capacity. The bearing capacity is measured on the basis of shaft friction o3

between the screw foundation and the relevant soil conditions.

Dimensions (Ixbxh): 530 x 400 x 380mm
Weight: 22,2KG
Load capacity vertical: 100kN

Load capacity horizontal: 60kN

Goal: To determine the maximum load bearing capacity of a ground screw

foundation in vertical and horizontal direction, tailored to a specific soil condition.
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s EXECUTION OF VERTICAL TEN " 19%6 forp, " block R
| %€ 0 15,09 tep e
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. In time blocks of 60 seconds, a screw foundation Vv Ia'ﬂ;:
. is subjected to an on and off vertical tensile load Force (kN): Displacement [mm): LA
oy o in steps of 10, 150r 20 kN. The resulting tensile “%“Lﬁ
L load isincreased by the same step size for each 1500 ;‘Tc."
o o step. During this load increase, the displacement . _ 0,00 ! .- '
. is closely monitored and noted. At a displacement e i = #s
- greater than 10%of the diameter (for example 7.6 ' H £ 30.00 { ot
=, mm for a V76and 8.9 mm for a V89),the screw a 'l g 3 . e
_- iy foundation has theoretically failed. The test has » e 0.00 _,,‘:5‘.;5 e
g :{', been completed. ]TL‘::*,__:E' 45 00 3,.1:_'"“;5
s = — 0,00 R
G ] . : 3 g
i Note: D
i 60.00 [ ™
f,:.:?zlr’ After unloading the screw foundation, it is P "Mﬂl
} o necessaryto tighten the threaded end. : i
gt We have to take into account the maximum 75.00 :
.‘,}-:" .| deflection of 50mm of the hydraulic cylinder.
Lé:- b Thisvisible displacement is caused by 0,00
e _}.‘; pressingthe footplate / frame into the ground 90.00
- }?\ + the displacement of the screwfoundation .
T_—ﬁ: . vertically upwards. 0,00
; . 105,00

The step sizeis initially based on 15kNfor vertical. After performing the first test,
it can be assessedto what extent this step sizeneeds to be further refined.
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| EXECUTION OF HORIZONTAL TE " g e A3
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a Intime blocks of 60 seconds, a ground screw _ v | N *}_:
« foundation is subjected in steps of 1,2 or 3 e Force (kN): Displacement (mm}: A =
- kNto an on-and- off horizontaltensileload. i % -5'__,__ =1, = 00 . 'ri‘f‘;j
i s The resulting tensile load is increased by the o w 47T e e | i ;‘Tc."
o o same step size for each step. During this load R s AR ks et 0,00 A -
o R increase, the displacement is closely monitored A3 ol "_'"f;_; i R : #
\'.'ﬁ,;'_ . and noted. At a displacement greater than e o - 4,00 { .
=, 10%of the diameter (for example 7.6 mm for 000 3 : e
AT a V76and 8.9 mm for a V89)the screw : 5:.:;.' &
ot foundation has theoretically failed. The test 6,00 }_1:,*"' Ve
= W has been completed. ot
o 1 0,00 Rl
Fl'*-_h-‘.-. 4 "'\'lb:‘:'u
% 1.', .: Note: 8.00 ."."‘-‘1
- F e -
e b =
P After unloading a screw foundation, it is 0.00 f-M !
et . necessaryto tighten the threaded end. : v Pt -
'::.‘:“ - We have to take into account the maximum 10,00
ey :" . deflection of 50mm of the hydraulic cylinder.
YTy Wi 0,00
r i .."iu
e .,"-_; 12,00
f )
B 0,00
' .'P-_:-
14,00

The step sizeis initially based on 2kN for horizontal. After performing the first test,
it can be assessedto what extent this step sizeneeds to be further refined.
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